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= 100,000
Al 100,000
307 @I2t01 & 200,000 0 200,000
= 100,000
Al 100,000
02 IHB A HE L 200,000 0 200,000
OXlgle|gd mAL=ols o12H| XA
200,000,000 x 14 200,000
= 100,000
Al 100,000
33222 HHMAH PS(LABLAIY) 475,000 0 475,000
= 237,500
= 118,750
Al 118,750
307 el2tol & 475,000 0 475,000
= 237,500
< 118,750
Al 118,750




2A:

mE: SLARR 29 XA(2A/2A0R)
el XNEANBEE 334 Hst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 475,000 475,000
OBBLAAR AN PH(ULZAA
&) 475,000,000 x 14 475,000
= 237,500
< 118,750
Al 118,750
33222 EHMA F=(LUZH=A) 5,000 5,000
= 2,500
[ 1,250
Al 1,250
402 QIF X201 & 5,000 5,000
= 2,500
== 1,250
Al 1,250
02 QI XHZ AL E R (01X THE) 5,000 5,000
O332d2g =M F=R(L2AX=2ZA
) 5,000,000 * 14 5,000
= 2,500
s 1,250
Al 1,250
N gd JIsSdaAtd 980,000 980,000
402 BIZtAH=01H 980,000 980,000
02 QIZEXHZ2 AL E X (01X THE) 980,000 980,000
OXgozd JIsELMEOIsS8s &
Zed U8) 980,000,000 x 14 980,000




